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FYRMEX L S—FIE
61A—200A 201 A—500A
@5:37.4%
|5:25% @4:50% (86A)
(1A A 04:47.8%
(110A)
@3:11.7%
03:25% @2:0% 27A)
(1A)  (OA] o2:1.3%
BA)
@LL7%
@10% @O:0% [L9N]
(OA)  (0A 0:0%
(0A)
< FigfE=4 > < Fi9fEi-4.18 >
BA- AME#REE
1A—60A 61A—200A 201 A—500A
B5:321% B5:43.9% B5:25.8%
(17A) (29A) (23A)
04:39.6% 04:36.4% 04:31.5%
(21A) (240) (28A)
03:11.3% 03:10.6% 03:25.8%
(6A) (7TA) (230)
O2113% o2:4.5% o27.9%
6A) (BA) (7A)
D13.8% o13% oL7.9%
2A) 2A) (7A)
B0:1.9% @O:1.5% @o:1.1%
(1A) (1A) (1A)

< FiofE=3.6 >

< FfE=3.87 > < FifE=4.15 >




[005]CDEBEDBEOABTHRBAITHMYOTINVNTTH?

1=2<E53BhLL. O=EETELL,

5=m<{E5E3, 4=%385,

B=ELBEBLARL,

2=F53BhILY,

EHEREE

B5:77.8%
(14A)
04:22.2%
[25N]
o3:0%
(OA)
o2:0%
(OA)
oL0%
(OA)
B0:0%
(OA)

< FYfE=4.78 >

REBURHEHRMEA

B5:55.6%
(5A)
04:44.4%
[25N]
o3:0%
(OA)
o2:0%
(OA)
oL0%
(OA)
o0:0%
(OA)

< FYfE=4.56 >

BIPHAERME

@5:100%
(9A)
040%
(OA)
o3:0%
(OA)
02:0%
(OA)
o10%
(OA)
oo:0%
(OA)

< FigfEi=5 >




[006]1CDEETHINGFEE~DERERSNFELEA?

5=m<{E5E3, 4=%385,

B=ELBEBLARL,

2=F53BhILY,

1=2<E53BhLL. O=EETELL,

£2EHHA

1A—60A 61A—200A 201 A—500A 501 A—
B5:24.1% @5:198% @5:14.6%
(7524) (1450) (234A) @5:20% @4:36%|
D4:41.6% 04:39.4% 04:37.4% (5A)  (9A
(12990) (2881) (5990)
03:22.7% 03:275% 03:316%
(711A) (2010) (506.A) 03:36% @2:4%
D2:7.4% 028.9% o2:112% ©OA) (LA
(230A) (65A) (180A)
o1:4% o138% o14.4%
(126 A) (284) (71A) @14%  @0:0%
20:0.3% @0:05% @0:0.8% (@A) (OA
(8A) (aA) (13A)
< FifE=3.74 > < FifE=3.63 > < FfE=3.47 > < FifE=3.64 >
MEEE A
1A—60A 61A—200A 201 A—500A 501 A—
B5:17.5% B5:222% B5:14.2% |5:25%
(10A) (16A) (17A) (BA)
04:45.6% 04:19.4% 04:26.7% 04:41.7%
(260) (14A) (32A) (5A)
03:28.1% 03:33.3% 03:45.8% 03:33.3%
(16A) (24A) (55A) (aA)
D28.8% o216.7% o28.3% o2:0%
(5A) (12A) (10A) (OA)
o10% o18.3% o1:4.2% oL0%
(OA) 6A) (5A) (OA)
B0:0% o0:0% @0:0.8% o0:0%
(OA) (OA) (1A) (OA)
< FifE=3.72 > < FifE=331 > < FifE=3.39 > < FifE=3.92 >
BHPHMEE
1A—60A 61A—200A 201 A—500A 501 A—
m5:28.4% @5:38.5% @5:101% @5:33.3%
(194) (5A) (26A) (1A)
04:47.8% 04:46.2% 04:38.1% @4:0%
(32A) (6A) (98A) (0A)
03:19.4% @3:15.4% O3:31.9% 03:33.3%
(13A) 2A) (82A) (1A)
o215% o20% o214.8% o2333%
(1A) (0A) (38A) (1A)
o13% oL% oL4.7% oL%
2A) (0A) (124) (0A)
mo:0% @o:0% @0:0.4% @o:0%
(OA) (OA) (1A (OA)
< FifE=3.97 > < Fi9fE=4.23 > < Fi9fE=3.34 > < Fi9fE=3.33 >
EFEE e
1A—60A 61A—200A 201 A—500A 501 A—
m5:28.6% @5:18.6% @5:16.9% @5:14.3%
(240) (41A) (154) (1A)
m4:44% 04:41.2% 04:383% 04:57.1%
(B7A) (91A) (2600) (aA)
03:23.8% o3:31.2% 03:289% 03:28.6%
(20A) (69A) (196 1) 2A)
o2:2.4% ox7.7% 02:106% o20%
@A) (27A) (7221 0A)
oL0% @L0.5% @1:4.6% oL%
(0A) (1A) (31A) (0A)
m0:1.2% @0:0.9% @0:0.7% @o:0%
aA) @A) (5A) (OA)
< FigfE=4 > < F9fE=37 > < Fi9fEi=3.53 > < Fi9fE=3.86 >
BURFHEE B
1A—60A 61A—200A 201 A—500A 501 A—
|5:14.6% @5:36.4% @5131%
(6A) [LUN] (21A)
04:43.9% 04:36.4% 04:37.5%
(18A) (aA) (60.A)
03:29.3% 03:18.2% O3:33.1%
(124) 2A) (53A)
029.8% o20% o29.4%
[LN] (OA) (15A)
o1:2.4% @L9.1% oLS.6%
(LA) (1A) (OA)
mo:0% @o:0% @o:1.3%
(OA) (OA) 2A)

< FifE=359 >

< FifE=3.91 >

< Fi9fEi=3.44 >

< Fi9fE=233 >




[006]1CDEETHINGFEE~DERERSNFELEA?

5=<Z5385, 4=%3R35, 3=ELLEIVALL, 2=F5BbAL, 1=2<{Z53BbAL), 0=EETELL,
ah
BEIFHME
1A—60A 61A—200A 201 A—500A
B5:201% @5:163% |5:0%
(a0A) (434) (OA)
04:38.7% 04:418% 04:14.3%
(770) (110A) (1A)
03:24.1% 03:278% 03:42.9%
(480) (73A) (BA)
o2111% 029.5% 02:42.9%
(220) (25A) (BA)
o1s% o14.6% oL0%
(10A) (124) (OA)
m0:1% @0:0% o0:0%
2A) (OA) (OA)
< FHfi =3.58 > < FHfi =3.56 > < FiYfEi=2.71 >
ah
SmEMFHEE
1A—60A 61A—200A 201 A—500A
B5:27.3% B5:19.2% B5:16.9%
(BA) (14A) (10A)
04:27.3% 04:411% 04:47.5%
(3A) (30A) (280)
03:45.5% 03:21.9% 03:18.6%
(5A) (16A) (11A)
02:0% 02:9.6% 02:102%
(OA) (7A) (6A)
o10% oL16.8% o16.8%
(OA) (5A) [25N]
B0:0% @0:1.4% o0:0%
(OA) (1A) (OA)
< FfE=3.82 > < FfE=3.57 > < FiYfEi=3.58 >
NEEREERE
1A—60A 61A—200A
B5:20.4% @5:33.3%
(638A) (BA)
D4:41.7% 04:55.6%
(1090A) (5A)
03:22.3% @3:0%
(583A) (0A)
o27.2% o2111%
(189A) (1A)
B1:4.2% oL%
(110A) (0A)
B0:0.2% @o:0%
@A) (OA)
< F9fE=3.75 > < FiofEi-411 >
.
FYRMEXAL L S—FIE
61A—200A 201 A—500A
@5:12.6%
B5:0%  @4:50% (290)
(OA)  (2A @4:39%
(90A)
O3:36.4%
03:25% @2:0% (84A)
(IA) - (OA 02:9.1%
(210)
oL2.6%
@1:25% @O0:0% (6A)
(IA) - (OA [0:0.4%
aA)
< FigfE=3 > < FifE=35 >
- S} S
BA- AME#REE
1A—60A 61A—200A 201 A—500A
B5:22.6% B5:29.2% B5:17.8%
(12A) (19A) (16A)
04:30.2% 04:40% 04:33.3%
(16A) (26A) (30A)
03:26.4% 03:21.5% 03:24.4%
(140) (14A) (22A)
0213.2% o2:4.6% o216.7%
(7TA) (BA) (15A)
BL5.7% o13.1% o1:4.4%
(BA) 2A) [25N]
B0:1.9% @O:1.5% @0:3.3%
(1A) (1A) (BA)

< Fi9fE=3.52 >

< Fi9fEi=3.89 >

< FiYfEi=3.45 >




[006]1CDEETHINGFEE~DERERSNFELEA?

1=2<E53BhLL. O=EETELL,

5=m<{E5E3, 4=%385,

B=ELBEBLARL,

2=F53BhILY,

EHEREE

B5:77.8%
(14A)
04:22.2%
[25N]
o3:0%
(OA)
o2:0%
(OA)
oL0%
(OA)
B0:0%
(OA)

< FYfE=4.78 >

REBURHEHRMEA

B5:55.6%
(5A)
04:44.4%
[25N]
o3:0%
(OA)
o2:0%
(OA)
oL0%
(OA)
o0:0%
(OA)

< FYfE=4.56 >

BIPHAERME

@5:100%
(9A)
040%
(OA)
o3:0%
(OA)
02:0%
(OA)
o10%
(OA)
oo:0%
(OA)

< FigfEi=5 >




[007)B 75 - X DIBEERFELELIM?

5=REGL, 4=1—2ERE, 3=3—4ERE, 2=5—-6HERKE, 1=7EHLULRE

£2EHHA

1A—60A 61A—200A 201 A—500A 501 A—
B5:82.6% @5:812% B5:74.9% B5:923%
(25850) (5971) (1200A) (24A)
D4:16.4% 04:16.6% o4:21% o4:7.7%
(512A) (1221) (337A) 2A)
o3:1% @3:1.9% 03:3.6% o3:0%
32A) (148) (57A) (OA)
D2:0% 02:01% 02:04% o2:0%
(0A) an) (6A) (0A)
o10% @101% B101% oL0%
(1A) an @A) (0A)
D0:0% @0:0% oo:0% oo:0%
(0A) oA oA (0A)
< FifE=4.81 > < FiYfE=4.79 > < FifE =47 > < i =492 >
MEEE A
1A—60A 61A—200A 201 A—500A 501 A—
B5:66.7% |5:62.5% B5:75.8% B5:100%
(38A) (a5A) (91A) (12A)
04:29.8% 04:27.8% 04:17.5% D4:0%
(17A) (20A) (21A) (OA)
03:3.5% 03:9.7% o3:5.8% o3:0%
2A) (7A) (7A) (0A)
02:0% o2:0% 02:08% o2:0%
(0A) (0A) (1A) (0A)
o10% oL0% oL0% o10%
(0A) (0A) (0A) (0A)
B0:0% o0:0% o0:0% B0:0%
(OA) (OA) (OA) (0A)
< FifE=4.63 > < FifE =453 > < FifE=4.68 > < FYfli=5 >
BHPHMEE
1A—60A 61A—200A 201 A—500A 501 A—
B5:53.7% B5:69.2% @5:55.6% @5:100%
(36A) (OA) (143) BA)
04:37.3% @4:231% @4:37% @4:0%
(25A) (BA) (95A) [ON]
o3:9% @3:0% @3:7.4% o3:0%
(6A) (0A) (194) [ON]
o20% ox7.7% o20% o2:0%
(OA) (1A) (0A) (0A)
oL0% oL% @Lo0% o10%
(OA) (OA) (0A) (0A)
mo:0% @o:0% @0:0% @o:0%
(OA) (OA) (0A) (0A)
< Fi9fEi =445 > < Fi9fEi-4.54 > < Fi9fEi =448 > < Fi9fEi=5 >
EFEE e
1A—60A 61A—200A 201 A—500A 501 A—
|5:85.7% @5:738% @5:78.6%
(720) (1630) (53a0) |5:75% @4:25%
m4:14.3% @4:23.1% 24:17.8% (6A)  (2A]
(124) (51A) (1210)
o3:0% @3:2.7% @3:2.7%
(0A) (6A) (18A) o@3:0% O2:0%
02:0% o2:0% 02:0.6% OA)  (OA]
(OA) (0A) (N}
oL0% @105% @103%
(OA) aA) 2A) @1:0% @0:0%
m0:0% 20:0% 20:0% OA)  (OA]
(OA) (OA) (0A)
< Fi9fEi-4.86 > < Fi9fE=47 > < FifE=474 > < FifE =475 >
BURFHEE B
1A—60A 61A—200A 201 A—500A 501 A—
|5:97.6% @5:84.4% @5:100%
(40A) (1350) BA)
m4:2.4% @4:13.8% @4:0%
(1A) (22A) [ON]
o3:0% @3:1.9% o3:0%
(OA) (BA) (OA)
o20% o20% o2:0%
(OA) (0A) (OA)
oL0% @Lo0% o10%
(OA) (0A) (OA)
mo:0% @0:0% @o:0%
(OA) (0A) (A)

< FifE=4.98 >

< FigfE=5 > < FifE=483 >

< Fi9fE=5 >




[007)B 75 - X DIBEERFELELIM?

5=RFEGL, 4=1-2ERE, 3=3—-4@RXE, 2=5—-6EKE, 1=7ELLERE
ah
BEIFHME
1A—60A 61A—200A 201 A—500A
|5:91.5% @5:913% @5:100%
(1820) (2420) (7A)
04:8.5% o48.7% 040%
(17A) (23A) (0A)
o3:0% o3:0% o3:0%
(OA) (OA) (OA)
o20% o2:0% 02:0%
(OA) (OA) (OA)
oL0% o10% o10%
(OA) (OA) (OA)
Bo:0% @0:0% oo:0%
(OA) (OA) (OA)
< FiyfEi=4.01 > < FifEi=4.91 > < FiYfi=5 >
ah
EaEMPHEA
1A—60A 61A—200A 201 A—500A
@5:100% B5:87.8% B5:76.3%
(11A) (65A) (a5A)
040% 04:108% o4:22%
(0A) (8A) (13A)
o3:0% o3:1.4% o3:1.7%
(OA) 1A) 1A)
02:0% o2:0% o2:0%
(OA) (OA) (OA)
o10% oL0% oL0%
(OA) (OA) (OA)
o0:0% o0:0% o0:0%
(0A) (OA) (OA)
< FiYfE=5 > < FiYfti = 4.86 > < FYfE =475 >
SEFHEMA
1A—60A 61A—200A
B5:82.7% @5:44.4%
(21640) (4A)
D4:16.4% 04:55.6%
(430A) (5A)
03:0.9% @3:0%
(230) (0A)
o2:0% o20%
(OA) (OA)
oL0% oL%
(1A) (OA)
0:0% @o:0%
(OA) (OA)
< FifEi-482 > < Fi9fEi =444 >
.
FURMEXAL £ S—HE
61A—200A 201 A—500A
@5:78.4%
|5:50% @4:50% (1814)
@A) A @4:19%
(a4 1)
@3:2.6%
@3:0% [2:0% (6A)
(OA)  (0A 2:0%
(0A)
@Lo0%
@10% @O:0% (OA)
(OA)  (0A 0:0%
(0A)
< FifE=45 > < FifE=4.76 >
A%
BA- AME#REE
1A—60A 61A—200A 201 A—500A
B5:79.2% B5:84.8% B5:71.9%
[Z:2N] (56.A) (640)
04:18.9% 04:15.2% 04:23.6%
(10A) (10A) (21A)
03:1.9% o3:0% o3:3.4%
1A) (OA) BA)
o2:0% o2:0% o21.1%
(OA) (OA) 1A)
o10% oL0% oL0%
(OA) (OA) (OA)
B0:0% oo:0% o0:0%
(OA) (OA) (0A)

< FiofE =477 >

< FiYfEi-4.85 >

< Fi9fiEi - 4.66 >




[007)B 75 - X DIBEERFELELIM?

3=3—4ERE, 2=5-6ERXE, 1=7EULRE

5=REHL, 4=1—2@RKRE,

EHEREE

B5:66.7%
(12A)
04:33.3%
(6A)
o3:0%
(OA)
o2:0%
(OA)
oL0%
(OA)
B0:0%
(OA)

< FYfEi - 4.67 >

REBURHEHRMEA

@5:100%
(9A)
040%
(OA)
o3:0%
(OA)
02:0%
(0A)
o10%
(OA)
oo:0%
(OA)

< FfE=5 >

BIPHAERME

B5:333%
(BA)
04:66.7%
(6A)
o3:0%
(OA)
o2:0%
(OA)
oL0%
(OA)
o0:0%
(OA)

< FiyfEi-433 >




[008] 7% - IEBEI T ENCOVNCDBREDFEEBEZIT>THEIT M ?

5=2FfEU L, 4=1KREI0NEE, 3=1HHEE, 2=3071EE. 1=08fH,
£FHHMAE
1A—60A 61A—200A 201 A—500A 501 A—

@5:4.1%

@5:28% |5:0%
(30A) (a5A) (OA)
@4:3.4% @4:3.3% o4:0%
(25A) (53A) (OA)
03:16.1% o3:114% o3:7.7%
(118A) (1820) 2A)
02:362% 02:375% 02:38.5%
(265A) (600A) (10A)
@1:402% @1:45% o153.8%
(295A) (7290) (14A)
@0:0% @o:0% oo:0%
(OA) (OA) (OA)
< FifE=2.48 > < FifE=1.95 > < FifE=1.81 > < FifE=1.54 >
MEEE A
1A—60A 61A—200A 201 A—500A 501 A—
B5:24.6% B5:4.2% |517% |5:0%
(14A) (BA) 2A) (0A)
D4:3.5% o4:1.4% o4:2.5% o4:0%
2A) 1A) (BA) (OA)
03:8.8% o3:2.8% 03:7.4% o3:0%
(5A) 2A) [E2N] (0A)
02:24.6% 02:30.6% 02:26.4% 02:41.7%
(140) (22A) (32A) (5A)
D1:38.6% oL611% o162% o1:58.3%
(220) (aaA) (75A) (7A)
B0:0% o0:0% o0:0% o0:0%
(OA) (OA) (OA) (OA)
< FifE =251 > < FifE =157 > < FifE=1.55 > < FiYfE=1.42 >
BHPHMEE
1A—60A 61A—200A 201 A—500A 501 A—
@5:08% @5:0%
@A) 0A)
@4:1.6% @4:0%
[N 0A)
o3:6.6% o3:0%
17A) (OA)
o2:375% o2333%
(96.0) aA)
@153.5% O1:66.7%
(1370) @A)
@0:0% @o:0%
oA ©0A)
< FigfE=17 > < FifEi-162 > < FifE=159 > < Fi9fE=133 >
EFEE e
1A—60A 61A—200A 201 A—500A 501 A—
|5:14.3% @5:1.4% @5:5%
(124) (BA) (34A) B5:0% @4:0%
m4:11.9% m4:2.3% 24:5.2% OA)  (OA]
(10A) (5A) (35A)
03:26.2% o3:15% O3:158%
(220) (33A) (1074) 03:25% @2:50%
02:32.1% 02:40.9% 02:40% 2A) (@A
27A) (90A) 2710)
B1:15.5% @1:40.5% @134%
(13A) (89A) (230A) O1:25% @0:0%
m0:0% m0:0% 20:0% 2A)  (OA]
(OA) (OA) (0A)
< Fi9fE=2.77 > < FifEi-1.83 > < Fi9fE=2.07 > < FigfE=2 >
BURFHEE B
1A—60A 61A—200A 201 A—500A 501 A—
|5:0% @5:9.1% @5:0% @5:0%
(0A) (1A) (0A) (OA)
m4:2.4% @4:0% @4:1.3% @4:0%
(1A) (0A) 2A) (OA)
o3:2.4% 03:18.2% o3:10% o3:0%
(1A) 2A) (16.A) [ON]
O2:24.4% o218.2% o2325% o2:0%
(10A) 2A) (52A) [ON]
BL70.7% @1:54.5% O1:56.3% @1:100%
(290) (6A) (90A) BA)
mo:0% @o:0% @o:0% @o:0%
(OA) (OA) (OA) (A)

< FifE=137 >

< FifE=1.91 >

< FifE=156 >

< FigfE=1 >




[008] 7% - IEBEI T ENCOVNCDBREDFEEBEZIT>THEIT M ?

5=28ffM L, 4=1KH307EE, 3=1HMEE. 2=30718E. 1=08H,
ah
BEIFHME
1A—60A 61A—200A 201 A—500A
B5:105% B5:4.2% |5:0%
(21A) (12A) (OA)
B4:9.5% 04:6.4% o4:0%
(19A) (17A) (OA)
03:29.5% 03:208% 03:57.1%
(59A) (55A) (aA)
02:34.5% 02:352% 02:28.6%
(69A) (93A) @A)
o1:16% 01:33.3% o1:14.3%
(320) (88A) (1A)
B0:0% o0:0% o0:0%
(OA) (OA) (OA)
< Ffi=2.64 > < FfE=2.13 > < FiYfEi=2.43 >
ah
SmEMFHEE
1A—60A 61A—200A 201 A—500A
B5:9.1% B5:135% B5:6.8%
(1A) (10A) (aA)
D4:0% o4:1.4% o4:5.1%
(OA) 1A) BA)
03:9.1% o3:23% 03:13.6%
(1A) (17A) (8A)
02:45.5% 02:28.4% 02:305%
(5A) (21A) (18A)
D1:36.4% 01:33.8% 01:44.1%
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(OA) (OA) (OA)
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NEEREERE
1A—60A 61A—200A
B5:4.7% @5:0%
(124A) (OA)
04:9.3% @4:11.1%
(2440) (1A)
03:29.7% 03:55.6%
(777.0) (5A)
D2:44.9% o2111%
(1176 A) (1A)
D1113% @1:22.2%
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@5:0.9%
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@A)
@3:6.1%
o3:0% @2:0% (144)
(OA)  (0A o2:45%
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@147.2%
BL75% @0:0% (1090)
(BA)  (OA 0:0%
(0A)
< FfE=2 > < Fi9fE=1.63 >
A%
BA- AME#REE
1A—60A 61A—200A 201 A—500A
B55.7% B515% B511%
(BA) 1A) 1A)
24:1.9% o4:0% 04:4.5%
1A) (OA) [25N]
03:7.5% o3:6.1% o3:8%
(aA) (aA) (7A)
02:321% 02:424% 02:28.4%
(17A) (28A) (25A)
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(280) (33A) (51A)
B0:0% oo:0% o0:0%
(OA) (OA) (OA)
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5=2FfEU L, 4=1KREI0NEE, 3=1HHEE, 2=3071EE. 1=08fH,

EHEREE REBURHEHRMEA BIPHRMHE

B5:27.8% B5111% B5:44.4%
(5A) 1A) [25N]
D4:5.6% o4:0% 04:111%
1A) (OA) 1A)
03:16.7% 03:22.2% o3:111%
(BA) 2A) 1A)
02:333% 02:333% 02:333%
(6A) (BA) BA)
B1:16.7% 01:33.3% oL0%
(BA) (BA) (OA)
B0:0% o0:0% o0:0%
(OA) (OA) (OA)

< FiYfE=2.94 > < FiYfE=2.22 > < FYfE=3.67 >
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